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On this day:

a) Write the year it was released in Roman Numerals.  MCMLXV
b) How long ago was this? 56 years














Maths
	Date: 2.03.2021                             Title: Number - Decimals
              
	
LO: Applying decimal division to a variety of problems

	[image: ]Key Question: 



	Fluency:  G   I       1) 340                2) £3.33      3) 44km    4) £330.66

5) A - £1.92    B- £1.93 so A is better        6) £7.55 ÷ 5 = £1.51 so the 

chocolate bar costs £1.51 and the box costs £6.04.  The difference is £4.53
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Testbase:    G   I 

	Support fluency:    G   I 
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	More Practice:  G   I 

a) 2.3     b) 1.3     c) 3.2         d) 2.1       e) 2.4      f) 1.7      g) 3.7
h) 1.2    i) 2.4    j) 3.1    k) 1.3    l) 7.3
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True
£94-85 + 7 = £13-55

£56-80 + 4 =£M-20
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They are both
correct.

Rosie has divided
her remainder of 3

by 4toget 0.75
whereas Jack has
recorded his as a
remainder.
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5. 11 marbles

6. 17 sets
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1. 4 rows

2. 12 packs
3. 12 pages
4. 13 packs
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I'm thinking of a 3-digit number.

When | divide it by 5, | am left with a remainder of 3
When | divide it by 10, | am left with a remainder of 8
It rounds to 200 to the nearest 100

It has one hundred.

What could my number be?
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Do you agree with Whitney? Mo
Explain your thinking.

Tre remoinder iswk worth the Some amouns.

W6<6.29-3  NI+L=99-25

29-2 # 29-35
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15 Endings: -ant and -ent
1. relevant, expectant, hesitant, tolerant
2. expectant, frequent, innocent
3. a) confident b) assistant c) obedient

4. a) contestant b) imminent ¢) reluctant d) present
e) intelligent f) defiant
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1) Draw hands on the clock to show
:40 pm

2) 0.6005 x 100 = 60.05

3) 10% 0f 425 = 42.5

4) How many days are there in months
starting with a vowel? 92 days

5) Write 1,546,745 in words One million,
five hundred and forty-six thousand, seven
hundred and forty-five

6) 422 x 74 =31,228

7)64.2x7.1=1455.82

8) Find 1/5 of 7,355 = 1,471

9)929+9=103r2

10)4/7 +3=4/21
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1) If 3/4is 69, what is the whole? 92

2) 0.6005x100=60.05

3)15%of 425=63.75

4) How many days are there in months
starting with a vowel? 92 days

5) Write 1,546,745 inwords One million,
five hundred and forty-sixthousand, seven
hundred and forty-five
6)422x74=31,228
7)64.2x7.1=455.82

8) Give 30 as a product of its prime
factors.2x3 x5
9)929+13=71.460r716/13
10)3+4/7=21/4=51/a
11)4/7+3=4/21

12) Find 3/5 of 7355 =4,413




